

08/23/2025 06:00 AM | INSTALLATION AND **EVENT DATE** 08/24/2025 09:00 AM | Strike

PO: **Shipping Address:**

Pelican Hills 22701 Pelican Hill Road South, Newport

Coast, CA 92657

Mindy Weiss 942 S. Detroit Street Los Angeles, CA 90036

Invoice Date:

Due Date: Upon Receipt

Salesperson: Romina Manolio

Description		Qtty	Price		Total
CEREMONY					
-	Dining Chairs - Aspen - White Wood W/ White Linen 18" X 21" X 32"H	250	\$32.76	Т	\$8,190.00
	Fabric To Cover part of Pergola 80'x 16'H in Color Close to pergola With Velcro	1	\$140.40	Т	\$140.40
	Fabric to Cover Inside Pergola 10' Diameter Flat Request from Celio	1	\$175.50	Т	\$175.50
			Total CEREMONY		\$8,505.90
COCKTAIL FUR	NITURE				
	Garden Sofas - Caserta - Scalloped Love Seat Black Frame and White Cushions 50 1/4"L x 22"W x 27"H	6	\$321.75	T	\$1,930.50
	Garden Club & Lounge Chairs - Caserta - Scalloped Club Chair Black Frame and white Cushions 24 1/2 L" x 23" W x 27 H"	8	\$175.50	Т	\$1,404.00
	Coffee Tables - Toronto - Oval Painted in Black Frame 36"W x 24"L x 18"H	2	\$201.83	Т	\$403.65
	Coffee Tables - Toronto - Rectangular Painted in Black Frame 36"W x 22"L x 17"H - Frame Color & Top Upon Request	4	\$152.10	T	\$608.40
	Garden Tables - Caserta - Bistro Table Painted in Black Frame 36"Diam x 30"H	7	\$292.50	Т	\$2,047.50
	Garden Dining Chairs - Caserta - Scalloped Bistro Painted in black with White Cushion	32	\$52.65	T	\$1,684.80

Description		Qtty	Price		Total
	Garden Tables - Caserta - Stand Up Table Painted in Black 36"Diam x 40"H	6	\$292.50	Т	\$1,755.00
	Ottomans - Standard Pod White With Details in Black 18"RND x 17"H - Cover Color Upon Request	17	\$40.95	Т	\$696.15
	Mix and Match Pillows - White And Black	40	\$29.25	Т	\$1,170.00
		Total COCKTAIL FURNITURE			\$11,700.00
COCKTAIL BAR	S OPTIONS				
	Barback - Round Metal Painted in Black	1	\$351.00	Т	\$351.00
	Bar Round Cartagena 16' Diam Option 2	1	\$3,510.00	Т	\$3,510.00
	To	tal COCK	TAIL BARS OPTIO	NS	\$3,861.00
HALWAY DRAP	E				
	In stock White sheer with Baking With Black Valance 565 x 13'H	1	\$11,115.00	Т	\$11,115.00
		T	otal HALWAY DRA	νPE	\$11,115.00
RECEPTION DR	APE				
	Panels - Flat Arched Alcove - Multicolor To Be retrofit - to a 10'x12H With Black and White Decal 8'W x 10'H - Custom color and decal upon request	3	\$1,755.00	T	\$5,265.00
	CUSTOM FABRIC TREATMENT IN BLACK WITH DETAILS IN WHITE FOR WINDOWS 5'x12'H With White Details	14	\$292.50	Т	\$4,095.00
	FABRIC TREATMENT IN BLACK WITH DETAILS IN WHITE TO COVER BACK AND SIDE WALLS 500x 13'H	1	\$9,594.00	T	\$9,594.00
	Black Fabric In Stock With white Valance With Black Details. With Double Sided Pullbacks and Covering Columns				
		Tota	I RECEPTION DRA	PE	\$18,954.00
RECEPTION TA	BLE CLOTH				
	IN STOCK TABLE CLOTH IN WHITE WITH DETAILS IN BLACK 8'X40"	4	\$140.40	Т	\$561.60
	CUSTOM TABLE CLOTH IN WHITE WITH DETAILS IN BLACK FOR 8'X40"	13	\$321.75	Т	\$4,182.75
	CUSTOM TABLE CLOTH IN WHITE WITH DETAILS IN BLACK FOR 72" ROUND	6	\$321.75	Т	\$1,930.50
	CUSTOM MADE TABLE CLOTH IN WHITE WITH DETAILS	3	\$321.75	Т	\$965.25

Description		Qtty	Price		Total
	CUSTOM TABLE CLOTH IN WHITE WITH DETAILS IN BLACK FOR 48" ROUND	1	\$175.50	T	\$175.50
	BLACK TABLE CLOTH FOR A CAKE TABLE 48" ROUND	1	\$58.50	Т	\$58.50
	NAPKINS - WHITE WITH WIDE BORDER DETAILS IN BLACK	270	\$8.78	Т	\$2,369.25
		Total RECEPTION TABLE CLOTH		OTH	\$10,243.35
BARS & BARBA	CKS				
	Bars - Tiered Slats - Multicolor	2	\$1,404.00	Т	\$2,808.00
	Barback - Tokyo - Straight Basic 6' X 8'h - Metal 6'W x 18"D x 8'H	2	\$351.00	Т	\$702.00
		Total BARS & BARBACKS		CKS	\$3,510.00
RECEPTION DJ					
	Dj Booths - Slatted Wood - Multicolor 71"1/2W x 30" x 48"H - Shelf 26"W x 12"H	1	\$631.80	T	\$631.80
			Total RECEPTION	I DJ	\$631.80
PATIO FURNITU	JRE				
	Sofas - Chicago - Black Velvet 98"W x 45"D x 30"H	2	\$643.50	T	\$1,287.00
8	Club & Lounge Chairs - Chicago - Black Velvet 36"W x 33"D x 27"H	8	\$292.50	T	\$2,340.00
	Ottomans - Beirut - Black Boucle 20"D x 16"H	6	\$58.50	T	\$351.00
	Coffee Tables - Chrome Ribbed Leg W/ Mirror Top 43.5"W x 23.75"D x 20"H	3	\$234.00	T	\$702.00
	Accent Tables - Chrome Round Ribbed Leg W/ Mirror Top	4	\$198.90	Т	\$795.60
	17"Diam x 24"H				
		Total PATIO FURNITURE		JRE	\$5,475.60
Services					
	Installation day 2	12	\$650.00		\$7,800.00
	Strike Team	8	\$650.00		\$5,200.00
	Manager on Site	1	\$1,500.00		\$1,500.00

Description	Qtty	Price		Total
Transportation	4	\$450.00	Т	\$1,800.00
Flame Certs and Flameproofing	1	\$1,200.00		\$1,200.00
Please make checks payable to Revelry, Inc.		Total Product	ts:	\$73,996.65
Note: Prior to deliveries and pick-ups all invoices must be pay in full	Total La	bor/Services/Mis	sc:	\$17,500.00
Please ready the contract and sign it	W	lear & Tear (4.00%	%) :	\$2,959.87
,		%) :	\$1,479.93	
Notes	Taxes (tax excempt):			\$0.00
		Discount	ts:	(\$0.00)
		Tota	al:	\$95,936.45
		Payment	ts:	(\$0.00)
		Baland	e:	\$95,936.45